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Chapter 4 Test Review
Fill in the blanks with the appropriate vocab terms:

1. A name given to matching angles of congruent triangles is ________________________________.

2. A side that is between two angles is called a(n) ______________________________.

3. The two congruent angles in an isosceles triangle are called ________________________________.

What can you conclude from the given statement? Provide a reason why. Draw a diagram for #6.

4.  bisects , so ________  __________ because _____________________________________.

5. bisects  at point A, so ________  __________ because _______________________________.

6.  so __________ // __________ because __________________________________________.







7. Classify the triangle by its angle measures and  		8. Find . 
[image: ]side lengths. 
[image: ] 






9. Given: . Identify the congruent corresponding parts. 

a.  ________			b. __________
[image: ]
[image: ]10. Given: . Find x. 		11. 





							Statements			Reasons
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							     Statements			Reasons






14. Find the value of x. 
[image: ]
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15. 							     Statements			Reasons
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16. 							     Statements			Reasons
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IR - =
RS=TT, s T 12. E
D
the midpoint Prove: AADB = ADAE c
of RU. R u
v B
Prove: ARSV= AUTV
Proof: 13. Given: GJ bisects FH, __ G H
and FH bisects GJ. K
Prove: AFGK= AHJK
. Given
. Given Vi

the mdpt. of RU.
. RV=0V
. ARSV = AUTV

. Given
. Def. of mdpt.
. SSS Steps 1,2, 4

m Show that AADB= ACDBwhens =5.
B

A 14-2s D 4 <
AB=s"—14s AD=14-2s
=52-4(5) =14-2(5)
=5 =4

BD = BD by the Reflexive Property. AD
and AB = CB. So AADB = ACDB by SSS.

14.

15.

F
Show that AABC = AXYZ when x = —6.

Y
B 22
x*+36
‘A X = z
A = c

Show that ALMN = APQR when y = 25.

N
R
o
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- Triangle Congruence: ASA, AAS, and HL (pp. 252-259)

EXAMPLES EXERCISES

B Given: B is the midpoint of AE. 16. Given: Cis the midpoint
LA=LE, of AG.,
£ABC= LEBD HA || GB
Prove: AABC= AEBD D Prove: AHAC = ABGC

PAVAN
A E  17. Given: WX | XZ,

L7,
| statements | Reasons | K~
Prove: AWZX = AYXZ
1. LA=LE . Given
2. LABC= LEBD . Given
3. Bis the mdpt. of AE. | 3. Given
4. AB=EB . Def. of mdpt.
5. AABC = AEBD . ASA Steps 1, 4,2

. Given: ZS and £V

are right angles.

RT=UW.

msLT=msW
Prove: ARST = AUVW
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By the Dist I8 L 27. Show that a triangle with vertices at (3, 5), (3, 2), i
y the (1s anc:z or(mu a,)z and (2, 5) is a right triangle.
CE=1\/(2a—0)*+(0—a,
=V4a? +a* = aV5
AD =\/(a—0)*+ (0— 2a)?
=\Va%+4a*>=a\/5

Thus CE = AD by the definition of congruence.

- Isosceles and Equilateral Triangles (op. 273-279)
EXAMPLE EXERCISES

m Find the value of x.

E Find each value.
ms£D + mZE + mZF = 180° 28. x M K
by the Triangle Sum D<d (45 —3x)"
Theorem. mZE = mZF
by the Isosceles F
Triangle Theorem. L
ms£D+2mZE=180°  Substitution 29. RS R

42 +2(3x) =180  Substitute the given
values.
6x=138  Simplify.
x=23 Divide both sides by 6.

30. Given: AACD is isosceles with ZD as the vertex
angle. B is the midpoint of AC.
AB=x+5,BC=2x—3,and CD = 2x + 6.

Find the perimeter of AACD.
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.Triangle Congruence: CPCTC (pp. 260-265)

EXAMPLES

® Given: JL and HK bisect each other.

Prove: ZJHG = LLKG

Proof:

I

. JL and FK bisect
each other.

4. AJHG = ALKG
. ZJHG = ZLKG

E K
H L
1. Given
2. Def. of bisect
3. Vert. &4 Thm.

4. SAS Steps 2, 3
5. CPCTC

Chapter 4 Triangle Congruence

EXERCISES

19. Given: M is the midpoint
of BD.

BC

Prove: Z1= /2

20. Given: Ij EQ,
PS=RS

Prove: Qngisects ZPQR.

21. Given: H is the midpoint of@
L is the midpoint of MK.

GM = K], G] = KM,
£G= LK
Prove: ZGMH = ZKJL
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Determine if you can use ASA to prove the triangles congruent. Explain.
22. AACB and AACD A 23. AEFGand AHGF  E

(4
8 2]

Determine if you can use the HL Congruence Theorem to prove the
triangles congruent. If not, tell what else you need to know.

24. AABC= AEDC | A 25. AFGH= AFJH [

26. Given: MN || P, N 27. Given: £1 = £6, 24 = £6
IN=/LL =/3,AB=AE

Prove: ML = PN Prove: AACD is isosceles.
L P B84

28. Given: AABC\\'IlhvorllcosA(z 4) B(l 1), (5, 2) and ADEF with vertices <
D(~1,-2), E(~1,-3).

Prove: ZBAC = ZEDF

Position each figure in the coordinate plane.
29. arectangle with length 7 units and width 3 units 30. a square with side length 3a
Write a coordinate proof.
31. Given: Right AGHI has coordinates G(0, 0), H(0, 4), and I(6, 0).
Jis the midpoint of GH, and Kis the midpoint of GL
Prove: The area of AGJKis : the area of AGHI

Assign coordinates to each vertex and write a coordinate proof.

Sl © vill
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1. A(n) __? isatriangle with at least two congruent sides. i

2. A name given to matching angles of congruent triangles is __ 2

3. A(n) __? _is the common side of two consecutive angles in a polygon.

- Classifying Triangles (pp. 216-221)

EXAMPLE EXERCISES

m Classify the triangle by its angle measures Classify each triangle by its angle measures and
and side lengths. side lengths. |
4. 5.

isosceles right triangle

0o

- Angle Relationships in Triangles (op. 223-230)

EXAMPLE EXERCISES

® Find mZS. 12x=3x+42+6x  Find mZN.
Gx+42° T 12v=9x+42 6. N
=2
7 s
x=14 120°
P
msS = 6(14) = 84° Q

7. InALMN, mZL = 8x°, m£ZM = (2x + 1)°, and
msN = (6x—1)°.
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1. A(n) __? isatriangle with at least two congruent sides. i

2. A name given to matching angles of congruent triangles is __ 2

3. A(n) __? _is the common side of two consecutive angles in a polygon.

- Classifying Triangles (pp. 216-221)

EXAMPLE EXERCISES

m Classify the triangle by its angle measures Classify each triangle by its angle measures and
and side lengths. side lengths. |
4. 5.

isosceles right triangle

0o

- Angle Relationships in Triangles (op. 223-230)

EXAMPLE EXERCISES

® Find mZS. 12x=3x+42+6x  Find mZN.
Gx+42° T 12v=9x+42 6. N
=2
7 s
x=14 120°
P
msS = 6(14) = 84° Q

7. InALMN, mZL = 8x°, m£ZM = (2x + 1)°, and
msN = (6x—1)°.
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:_ Bx-22° 0. ¢ 154 A
—ay 3y+1
E F 1. CD
The congruent pairs follow: ZD = /], ZE= /K, A D
£F= /L, DE=]JK EF =KL, and DF = JL. @x-37
Since mZE = mZK, 90 = 8x — 22. After 22 is
added to both sides, 112 = 8x. So x = 14.
. Triangle Congruence: SSS and SAS (pp. 242-249)
EXAMPLES EXERCISES
iven: UT, s T 12. Given: AB = DE, E
DB=AE D
the midpoint Prove: AADB= ADAE -
of RU. " v |
v B =
Prove: ARSV= AUTV A
Proof: 13. Given: GJ bisects FH, __ G H
and FH bisects GJ. K

Sttemants

. Given

Sl 3l
0w
NS

. Given

<

is the mdpt. of RU.
RV=UV
. ARSV = AUTV

o

. Given
. Def. of mdpt.
. SSS Steps 1,2, 4

|
<l
0

m Show that AADB= ACDBwhens =5.

Prove: AFGK= AHJK

F
14. Show that AABC = AXYZ when x = —6. ’

Y
B 22
x2+36
‘A X = z
A = c

15. Show that ALMN = APQR when y = 25.
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. Congruent Triangles (pp. 231-237)

'EXAMPLE EXERCISES
m Given: ADEF = AJKL. Identify all pairs of Given: APQR = AXYZ. Identify the congruent

o

congruent corresponding parts. corresponding parts.

Then find the value of x. 8. PR= ? 9. /Y= ?
Given: AABC= ACDA B c
Find each value.
10. x

15— 4y 3y+1
11. CD
The congruent pairs follow: ZD = /], ZE= /K, A D
@ -3

£F= /1, DE=JK EF =KL, and DF=]L.
Since mZE = mZK, 90 = 8x — 22. After 22 is
added to both sides, 112 = 8x. So x = 14.

. Triangle Congruence: SSS and SAS (pp. 242-249)

EXAMPLES EXERCISES
E

® Given:RS=UT,and § T
VS=TVT.Vis
the midpoint Prove: AADB = ADAE A

of RU. R u
B

RSV=





